Efficiency vs hit

0.5

efficiency vs hits

: mnmnuu i
n i

Ratio

||lIILI|||||||||I}|||I|||||||||||||I|||I|||||||||||

R

TP hits
—=— DQM_mkFit_TTbase

80

—e— DQM_mkFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
—— DQM_mkFit_TT_baseline_6iter
I Efficienc] —— DQM_mkFit6_TT_retrainOldFiles125_v2_prelimWP_epoch4

0 5 10 15 20 25
TP layers
0 02— T T
[ F . . . . . . . .
O T RERECERET PERFERPE
2 F:
20.14F
2 o
20.12F
k3 E
(=}
g OF
[5) E
0.08F
0.06F
0.04F :
0.02F ]
E.i i i i i
Fol ;
= :
@
| SRt == — -

o 1 2 3 4 5 6 7 8

Efficiency vs 3D layer

0 0.5

[ E
F0.45F--
S o04f--
ok

S03sE
& 0.3E
s F
$0.25F -
0.2F--
0.15F
0.1
0.05F

Ratio
v

r() 2 4 6 8 10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


